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The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mobile Phones sold on
e Monday [Tuesday [Wednesday [Thursday |Friday|Saturday |Sunday
A 20 90 96 56 100 |48 40
B 180 184 54 24 32 196 52
& 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E 96 36 116 138 140 |20 30

Fafafaa oifte & fodt awe & 9e fis G (Gmar 3 war) & o= fis fEsare A - £ gR1 99 70 Jiasd BF &t
T uehRia $1 7 &1 arfere # fau v sifeet w smeutia ust & S S :

aehdr - IR HEEd B &1 [§H1

- o U AERd B $ 9.
TR | AR | §¥aR |TEaR | IHaR | IHaR | faaR
A 80 90 96 56 100 482 40
B 180 184 54 24 32 196 52
C 160 72 a0 26 56 124 o4
D 120 92 24 128 104 68 152
E 96 36 116 138 140 20 30

What is the difference between the number of Mobile Phones sold by A and C together on Monday and that of D and E
together on Wednesday?

1.120
2. 100
3.160
4. 40

1)
(2)
3)
(4)

A W N R

TR DI A 3R C B U@ 9ry T o9 T AiERd BF &1 981 IR §4GR 3 D 3R £ 1 e 91y e od T ERd
B &1 981 & 99 AR [EHarg ?

1.120
2.100
3. 160
4. 40

1) 1




(2) 2

3) 3

4) 4

1[Option ID=45501] Question Description : dwbv_pg_gp30_eng_2_q1
2[Option ID=45502]

3[Option ID=45503]
4[Option ID=45504]

Sl. No.2
QBID:30201002

The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mobile Phones sold on
i Monday [Tuesday [Wednesday [Thursday |Friday|Saturday |Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 |124 94
D 120 92 24 128 104 |68 152
E 96 36 116 138 140 |20 30

Fafafes aifere & fadt awme & 9m fis B (@mear 3 wEer) & v fis Eeare A - £ §R1 59 70 giasa BiE ot
T uSiRia $1 7 &1 arfereT # fou e sifest W smunia ust F S S :

fehd - IR JE3d BT @1 fa®!

- < U HiTEa B $1 UE

THaR | HdER |§9aR | TEaR | YHAR | WHER | IGaR

A 80 90 96 56 100 48 40

B 180 184 54 24 32 196 52

C 160 72 60 26 56 124 94

D 120 92 24 128 104 68 152

E 96 36 116 138 140 20 30

The number of Mobile Phones sold by B on Tuesday and Saturday together is % more than the number of Mobile

Phones sold by C on Thursday and Sunday together.

1.162.33
2.262.67
3. 216.67
4, 102.67

1) 1
) 2
(3) 3
(4) 4

HEaR AR AFAR &I 0@ 91y AR 8 §R1 9d T AlEEa BiH ®1 98 TEAR AR AdaR &1 U A1 fBee ¢ R 54 /™
TiETgd BiH $F 3201 B ga-1 | [dba- W= (%) HEE ¢ ?

1.162.33
2.262.67
3. 216.67
4.102.67

1) 1
) 2




(3) 3
(4) 4

1[Option ID=45505] Question Description : dwbv_pg_gp30_eng_2_q2
2[Option ID=45506]
3[Option ID=45507]
4[Option ID=45508]

Sl. No.3
QBID:30201003

The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mobile Phones sold on
R Monday [Tuesday (Wednesday [Thursday |Friday|Saturday [Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 |19 52
& 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E 96 36 116 138 140 |20 30

Frafatae aifee & Gt 9w & 9 fie G (@meR 3 W@ER) 8 v fis et A - e R 39 T 9EEa wiE a1
T veikia $1 73 81 arferer # fau e sifest wX emutia wsi % 9w difve:

aehd - IR HrEed BFT @1 fa®!

- 9 U AERd B B 9

IHaR | #daR |§YaR | FaR | YHaAR | WHaR | Idar

A 80 90 96 56 100 43 40

B 180 184 54 24 32 196 52

C 160 72 60 26 56 124 94

D 120 92 24 128 104 68 152

E 96 36 116 138 140 20 30

The number of Mobile Phones sold by A and D together on Wednesday is % of the number of Mobile Phones sold

by E on Sunday.

1. 400
2.200
3. 100
4. 50

(1) 1
(2) 2
3) 3
(4) 4

FUIR &I A R D GRI Udh U1y HedR o 7T AiERd BiF &1 4801 IGaR & E gRT od U Aldgd B &) 98T & [l
PIGEIGE

1. 400
2.200
3.100
4. 50

(1) 1
) 2
3) 3




(4) 4

1[Option ID=45509] Question Description : dwbv_pg_gp30_eng_2_q3
2[Option ID=45510]
3[Option ID=45511]
4[Option ID=45512]

Sl. No.4
QBID:30201004

The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mobile Phones sold on
e Monday [Tuesday [Wednesday [Thursday |Friday|Saturday |Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 196 52
& 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E 96 36 116 138 140 |20 30

Fafafaa oifee & fodt awe & 9 fis G (Smar 3 waar) & o= fis faesare A - £ gR1 <9 70 Jiasd BF &t
T uehRia $1 7 &1 arfere # fau v sifeet w smeutia ust & S S :

aehdl - IR TR B @1 f9®1

- o U AERd B $ 9.
AR | 9 dER |§YaR | TEaR | I@aR | AR |IER
A 80 90 96 56 100 48 40
B 180 184 54 24 32 196 52
C 160 72 a0 26 56 124 o4
D 120 92 24 128 104 68 152
E 96 36 116 138 140 20 30

What is the average of the sale of Mobile Phones by B on Wednesday, E on Sunday, and D on Monday?

1.48
2.72
3.60
4. 68

1)
(2)
(3)
(4)

FYIR DI B, AR B! £ 3R THIR DI D gRI B 73 HlGZd B! [ BT 314d fba1g 2

1.48
2.72
3.60
4. 68

H W N R

(1)
(2)
3)
(4)

A W N =

1[Option ID=45513] Question Description : dwbv_pg_gp30_eng_2_q4
2[Option ID=45514]




3[Option ID=45515]
4[Option ID=45516]

SI. No.5
QBID:30201005

The following table shows the number of Mobile Phones sold by five different sellers. A-E on seven different days
(Monday to Sunday) in a week. Based on the data in the table, answer the questions.

Seller-wise Sale of Mobile Phones

Number of Mobile Phones sold on
i Monday [Tuesday [Wednesday [Thursday |Friday|Saturday |Sunday
A 80 90 96 56 100 |48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 124 94
D 120 92 24 128 104 |68 152
E 96 36 116 138 140 |20 30

Frafafas aifee & et wwe & 9e fis T (@meR | WaR) o uie fig faware A - R 39 T 9EEd BiE 31
TEn uSiiia #1 7 8| arfere | f3u e sifeet wr smutfyd wal & 9w difee

aehdl - IR a3 B &1 f9@1

e 9 T HiETgd BHT B HEA
AR | H6R |§YaR | AR | HAR | WHAR | IGaR
A 80 90 96 56 100 48 40
B 180 184 54 24 32 196 52
C 160 72 60 26 56 124 94
D 120 92 24 | 128 | 104 68 152
3 96 36 116 | 138 | 140 20 30

The Mobile Phones sold by A on Thursday are of two types, that is, Windows Phone and Android Phone, in the ratio 3:4.
What is the number of Windows Phone sold by A on Thursday?

1.28
2.48
3.32
4. 24

1) 1
(2) 2
3) 3
(4) 4

AR ®I A BRI Gl WOHR & HEsd B [deie BH 3R T/Hhe BF, @i 3:4 & 3J0/d § 991 7141| T3aR @I A GRI 89 Y
e o @ d= faqi g ¢

1.28
2.48
3.32
4,24

(1) 1
2) 2
3) 3
(4) 4

1[Option ID=45517] Question Description : dwbv_pg_gp30_eng_2_q5
2[Option ID=45518]




3[Option ID=45519]
4[Option ID=45520]

Sl. No.6
QBID:30201006

How a teacher should deal with students for maintaining effective descipline in the classroom?

1. Deal with the students very strictly.

2. Allow students to do what they want to do.

3. Complaint about them to the principal for creating indiscipline in the class.
4. Deal with them politely and firmly.

(1) 1
(2) 2
3) 3
(4) 4

e H THIET SRITEH S 1@ & 7T ol e ot faenidal @ & fgen gy 2

1. faenifal & w1y 9gd 9% agR S

2. Taeni¥ial 1 i d $1 96d & 34 B B AN UaH ST

3. B&T H SR $ & AU 9 IR H U= 4 Rrerd S
4. Ta=T5d1 Ud Tedl Ydd 34 aeR &l

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45521] Question Description : dwbv_pg_gp30_eng_2_q6
2[Option ID=45522]

3[Option ID=45523]
4[Option ID=45524]

Sl. No.7
QBID:30201007

Given below are two statements:
Statement |: Plateau is a period of no improvement in learning curve.
Statement II: In Plateau, the rate of learning first increases then decreases.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement |l are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement 1l is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
(4) 4

dR Py RkumuE:

T - | ; Wl (FRR fRufq) 8 orafy fom i o & 315 QUR el ol o
HYA - 1| FRR TR (@i # T B &R U dedl § e uedl g

SUdad BYH! & SHcild H Fafiiad [aeel § ¥ 98 3w g -

1. YA | 3R 11 BT HEl €]
2. @Y | 3R 1 §F1 Tad g
3. @Y | Tel §, fog @Y 11 7Te7d & |
4, BT | A0 &, fod DU 11 TR & |

1 1




(2) 2

3) 3

4) 4

1[Option ID=45525] Question Description : dwbv_pg_gp30_eng_2_q7
2[Option ID=45526]

3[Option ID=45527]
4[Option ID=45528]

SI. No.8
QBID:30201008

Given below are two statements:

Statement I: In synchronous communication, interaction between teacher and student does not occur at the same instant of
time.

Statement II: In Asynchonous communication, interaction between teacher and student occurs at the same instant of time.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1) 1
(2) 2
3) 3
(4) 4

TRaFERymE:

@Y - | : e Uy H e vd faafial & v sRaafea 34 &0 T8 Bt B
DY - || : Sged@Iicie YUY H Rigid U4 faaidal & Ae srgi-aihar 3t & il g
Sudad HYHl & Aeild H HafeiRad [awel § ¥ 98 3w g -

1. @Y | AR I T T

2. ®YA | 3R 11 SHT S g

3. @Y | 9 ¢, [ &Y 1| ST G
4. @ | A ©, fbg dYH 1 T B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45529] Question Description : dwbv_pg_gp30_eng_2_q8
2[Option ID=45530]
3[Option ID=45531]
4[Option ID=45532]

SI. No.9
QBID:30201009




Which of the following are the primary laws of learning?
A Law of exercise

B. Law of partial activity

C. Law of readiness

D. Law of associative shifting

E. Law of effect

Choose the carrect answer from the options given below:

1.A B and D only
2. A, Cand E only
3.B, D and E only
4.A, B, Cand D only

(1)
(2)
(3)
(4)

A & ufie For Fgfoad e o a8 2
A 3T @1 T

B. 3if¥r® Tfafals &1 Aoy

A W N =

C. dd3dl &1 Ay

D. TEaR] WHIdR @ FgH

E. UHTd &1 f-aH

e ey T famedl U W SW g
1. ®ad A, B AR D
2.bad A, CIRE

3.%dd B, DR E
4. WEAA B, CARD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45533] Question Description : dwbv_pg_gp30_eng_2_q9
2[Option ID=45534]
3[Option ID=45535]
4[Option ID=45536]

Sl. No.10
QBID:30201010

Given below are two statements:

Statement I: Podcasts are digital audio or video files containing meaningful content.
Statement II: Blogs are personal websites that contain content like a Journal or diary.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.




(1)
(2)
(3)
(4)

A W N R

EIERAR AN AR IR

Y - | : UISHRe, iaF faug avg U gad fSforea o (Hifsa) o ==y (fafsa)) wigd el & |
YA - || : 1] AT JIYISE & (o o a1 SERT J T a9y a%g gidl g

Sudad BYHl & SHelld H FHfeRed [dwel § ¥ 98 Sw g -

1. @Y | R 1 GE TT B

2. BT | AR I GH HTA B

3. @Y | 9 ¢, [ BYH 1| AT B
4. T | A B, g Y 1 TI B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45537] Question Description : dwbv_pg_gp30_eng_2_q10
2[Option ID=45538]

3[Option ID=45539]
4[Option ID=45540]

Sl. No.11
QBID:30201011

Coding research participants into qualitative variables as male and female represents

1. The Thurstone scale
2. The Likert scale

3. The differential scale
4. The nominal scale

1) 1
(2) 2
3) 3
(4) 4

Ry WRHIFET @ g9y 3R AR & F9 H UGHIRS wRi H geag oAl HufdRgd 3 9 foue! Fefud axarg ?

1. Y2 AT (Fha)
2. fo@e At (w5 a)
3. fave® AT (Wha)
4. 1H® AT (THa)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=45541] Question Description : dwbv_pg_gp30_eng_2_q11
2[Option ID=45542]

3[Option ID=45543]
4[Option ID=45544]

Sl. No.12
QBID:30201012




When observations are classified by social scientists into a system of categorisation, it needs

1. Conviction

2. Accuracy

3. Limited condtions
4. Hypotheses

1)
(2)
(3)
(4)

S GETSaT-aT GRT U&TT BT Gl B TP FUTal H aF i a1 oiidl & df g9 3l Ha0® ¢ 7

1. €@ YN

2. AUTTT (Tl
3. ﬁfﬁﬁi@rﬁm

4. YgdhegTd

Hd W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45545] Question Description : dwbv_pg_gp30_eng_2_q12
2[Option ID=45546]
3[Option ID=45547]
4[Option ID=45548]

Sl. No.13
QBID:30201013

When a fixed list of questions is administered to all the participants in the same order, it is known as

1. Summative interview

2. Structured interview

3. Formative interview

4. Fixed question interview

(1)
(2)
(3)
(4)

d Ul B U ad Gl 99 o8 J T nfafirl &1 3 9l 8 9l S8 P S u H aFr 9 g 2

A W N =

1. b o-IdHD AT R
2. TRfd WA R

3. FEOTES JET@R
4, 100 UY GIETP R

1)
(2)
(3)
(4)

H W N R

1[Option ID=45549] Question Description : dwbv_pg_gp30_eng_2_q13
2[Option ID=45550]
3[Option ID=45551]
4[Option ID=45552]

Sl. No.14
QBID:30201014




Which of the following are experimental manipulations?
A. Environmental manipulation

B. Stimulus manipulation

C. Instructional manipulation

D. Planning manipulation

E. Decision manipulation

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and E only
4. A, DandE only

(1)
(2)
3)
(4)

P W N R

ffafad # @ o I uimds Sadle g 2
A Ty sagor

B. Be 104 Uatl SadeH

C. HICTHD FabaH

D. e deidh Serie

. iy deitht wemie

i feg e fapedl § 9 9l FW A -
1.59d A, B 3R C
2.®dd B, C 3R D

3.%dd C, D AN E
4. HGdA D IR E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45553] Question Description : dwbv_pg_gp30_eng_2_q14
2[Option ID=45554]
3[Option ID=45555]
4[Option ID=45556]

Sl. No.15
QBID:30201015




Given below are two statements:

Statement I: The conceptual variable to be converted into a scientifically researchable variable involves redefining the
abstraction of a conceptual variable into an empirical one.

Statement II: Clear and detailed procedures and instruments to make the actual observations should be specified so that
other researchers/scientists do not duplicate the observations.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
(3) 3
(4) 4

TRaFERTmE:

@Y - | : Uh d9li-d ¥U d Aedig &R J SUidd s dld SHayRTES @R H Ul HHAH @1 5 Uh SHaUYRUTEHS 9 &
T B! GIRHIE ST i 2

T - || : TGP H&0T Bl FH & forg Tp R favga gefaal vd wreqt @ fafaféy favan s aifen aifes o situaaf ok
RS S UaoT @1 sy 7 &)
Suddd BYHl & SHclld H HafiRad fasel § ¥ 98 3w g4 -

1. @Y | R 11 BA TT B

2. @Y | 3R Il GFT A B

3. %Y | TA R, g Y 1 A B
4. T | A g, g FYH 1 TA B

1)
(2)
(3)
(4)

H W N R

1[Option ID=45557] Question Description : dwbv_pg_gp30_eng_2_q15
2[Option ID=45558]
3[Option ID=45559]
4[Option ID=45560]

Sl. No.16
QBID:30201016

The digital technology is the factor responsible for the emergence of

1. Mass media culture

2. Inter-active media culture
3. Impersonal media culture
4, Personal media culture

(1)
(2)
(3)
(4)

D W N R




FrofafEa 3 @ forad sifgula & e fEfea Uenfiet &1 ore STedi & 2

1. W HOR A19EH ({19 Hifsan) @5
2. Sfafshara® Hifsa T5ofa

3. Jfddgfdad HIfsar Yhia

4. Jafdas Hifsar Tpid

1)
(2)
(3)
(4)

Hd W N R

1[Option ID=45561] Question Description : dwbv_pg_gp30_eng_2_q16
2[Option ID=45562]
3[Option ID=45563]
4[Option ID=45564]

Sl. No.17
QBID:30201017

The space bias in communication is related to

1. Oral medium
2. Traditional medium
3. Broadcast medium
4. Print medium

1)
(2)
(3)
(4)

H W N R

TN H ¥ - Yaie ey defia g 2

1. dife® T19
2. TRARS H1EH
3. TR A1y
4. TR0 HIEH

1)
(2)
(3)
(4)

A W N R

1[Option ID=45565] Question Description : dwbv_pg_gp30_eng_2_ql17
2[Option ID=45566]
3[Option ID=45567]
4[Option ID=45568]

Sl. No.18
QBID:30201018




Which of the following are to be carefully observed and followed while writing?
A. Long introduction

B. Abrupt end

C. Relevant content

D. Correct syntax

E. Diction and punctuation marks.

Choose the carrect answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and E only
4. A, Cand E only

1) 1
) 2
3) 3
(4) 4

e Bid 999 Fefeiad 5 ¥ e qraurigde Ter iR SiER fear S g ¢
A fsil TREdTaT
B. 3fTh e 3id
C. UifiTe fqugag
D. Hgl a1 - fgarg
E. T - 904 (fea=M) iR f@me fauE
- feg e el 5 9 el Sw A -
1.®ad A, B3R C
2.®qd B, C AR D

3.%dd C, D3IRE
4. HAdA CHRE

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45569] Question Description : dwbv_pg_gp30_eng_2_q18
2[Option ID=45570]

3[Option ID=45571]
4[Option ID=45572]

Sl. No.19
QBID:30201019




Given below are two statements:

Statement I: The difference between hot and cool media is measured in terms of volumes of information.
Statement II: Virtual reality did not exist at the time of making this distinction between hot and cool media.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false,
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R

TP RTTE:

T - | : IUeP AR FRR (€Te TS 7o) Hifew & &9 iR o a1 uRkam & Sef & oy s 2
HYA - || SHTHTET G BT Ioiod AR dRATHR =501 & dF [99e S 997 31T Tel o)
Sudad BYHl & SAcild H Fafiiad [asel § ¥ 98 3w 9 -

1. YT | 3R 11 G T B

2. T | SR 1 &FT A B

3. @Y | 9 &, [ &Y || S B
4. T | 39d 8, g Y 11 TA B

(1)
(2)
(3)
(4)

W N R

1[Option ID=45573] Question Description : dwbv_pg_gp30_eng_2_q19
2[Option ID=45574]
3[Option ID=45575]
4[Option ID=45576]

Sl. No.20
QBID:30201020

Given below are two statements:

Statement I: It is said that content of one medium itself is another medium.

Statement II: Just like the written word is content in print, the content of writing can also be called as speech.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false,
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

H W N R




EIEEACASA A - F

Y - | : 9 el 9dl & (& U HIegH B [q9gasd HY- HIGH 3= A9 3|

BYA - 11 - o e [Rad 2es, v = [ugasg &, 94l e oeH &1 faugas] & arp (&) i &8l ol 9ddl ¢
Sudad BYHl & SHelld H FHfeRed [dwel § ¥ 98 Sw g -

1. @Y | R 1 GE TT B

2. BT | AR I GHT A B

3. @Y | 9 ¢, [ BYH 1| AT B
4. T | A B, g Y 1 TI B

1)
(2)
(3)
(4)

A W N R

1[Option ID=45577] Question Description : dwbv_pg_gp30_eng_2_q20
2[Option ID=45578]
3[Option ID=45579]
4[Option ID=45580]

Sl. No.21
QBID:30201021

A four directional pole, has been erected at a crossroad, with arrows pointing towards four directions East, West, North and
South. The pole got little damaged due to certain reason. Beacause of the damage, the North pointer of the pole is now
pointing towards East and like wise other pointers have also shifted. A man desiring to go towards West takes the help of
this pole and starts moving West as per pointers of the pole. In which directions is the man actually moving?

1. West
2. South
3. East

4, North

1)
(2)
(3)
(4)

T3 TR G BT IR1e IR Es1 [ T & form @l IR ad, ufdm, SR g aidm el @1 iR i #e e o) [
HROGR T ATST 4™ & M1 &ifd & SR I a3 &1 Ydae e gd o= 3 ok Yavd B w1 ¢ 3R 3 TR 37
Yobad Hl 960 71U | UTEH @1 3R WH &1 3a3® didd 39 W &I Ggdl odl & 3R €Y & Ybdd S{9R UEH $I 3R gcH
Y TR &al | 98 Afaa aRaa | [y G A ga e & 2

1. gigm
2. G
3.7d

4.3

H W N R

1)
(2)
(3)
(4)

Hd W N R

1[Option ID=45581] Question Description : dwbv_pg_gp30_eng_2_q21
2[Option ID=45582]
3[Option ID=45583]
4[Option ID=45584]

Sl. No.22
QBID:30201022




How many prime numbers exist between 20 and 60 and what is the average of these prime numbers?

1.7, 41.5
2.9,40.33
3.8, 39.5
4.10,42.33

1)
(2)
(3)
(4)

20 T 60 & S fohanT 31U G| & R 3 AT SBT3 BT HGd F1 6 ?

Hd W N R

1.7,41.5
2.89,40.33
3.8, 395
4.10,42.33

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45585] Question Description : dwbv_pg_gp30_eng_2_q22
2[Option ID=45586]
3[Option ID=45587]
4[Option ID=45588]

Sl. No.23

QBID:30201023

The average age of seven members of a family is 35 years. If one of the members whose age is 35 years is not included,
then the age of other six family members is in the ratio of 1:2:3:4:5:6. Find the age of the eldest member of the family.

1. 60 years
2. 65 years
3. 61 years
4, 58 years

(1)
(2)
(3)
(4)

D W N R

U URAR & UId 9™l &1 3i8d 31 35 94 g1 Afe U He, foget oY 35 U g, 399 giefad A 6a1 9, df o 88
TCl D g BT UM 1:2:3:4:5:6 BRI | IRAR & T4 55 Ua & B H1G B Ual ey :

1.60 99
2.65 T4
3.6178
4.58 39

1)
(2)
(3)
(4)

A W N R

1[Option ID=45589] Question Description : dwbv_pg_gp30_eng_2_q23
2[Option ID=45590]
3[Option ID=45591]
4[Option ID=45592]

Sl. No.24
QBID:30201024




If Ais coded as C, B as D, C as E and so on, then code the following:
CONFIDENTIAL

. EQPHKFGKVNC

. EQRIKFHOWLEN

. DQQHLFGPWLDN
. EQPHKFGPVKCN

B R

1) 1
(2) 2
3) 3
(4) 4

e A DI C b EUH B DI D, CHI E 3R SU YBR Al o 3H&RI I Peds [6dl WY @ "CONFIDENTIAL Bl Heas B :

. EQPHKFGKVNC

. EQRIKFHQWLEN

. DOQQHLFGPWLDN
. EQPHKFGPVKCN

N

1)
(2)
(3)
(4)

A W N R

1[Option ID=45593] Question Description : dwbv_pg_gp30_eng_2_q24
2[Option ID=45594]
3[Option ID=45595]
4[Option ID=45596]

Sl. No.25
QBID:30201025

Which number can replace question mark(?) in the series given below?

1, 7,17, 31, 2. 71

J

A

A

w0 =

41

60

O

1)1
(2) 2
3) 3
(4) 4

i €1 TS oET ¥ uyara® foe (7) B iF O U8 Nt S 7

1, 7,17, 31, %, 71

1]

A
4

w0 =~

A0
4

41

60

R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45597] Question Description : dwbv_pg_gp30_eng_2_q25
2[Option ID=45598]

3[Option ID=45599]
4[Option ID=45600]




Sl. No.26
QBID:30201026

" Mr. Kubra is a murderer because he wrongfully killed someone.” Which fallacy is committed in the above argument?

1. Begging the question
2. Ad hominem
3. Hasty Generalisation
4. Equivocation

1)
(2)
(3)
(4)

3 BT U AR & T 3G Tad ki & sl & AR ST 8 1* Iudad gfad § SHAT dd - GI¥ 8 7

1. T Y

2. sfaafaRy o foe (s Bifi-)
3. HiGaRT Y6

4. dTH

A W N R

(1)
(2)
3)
(4)

A W N =

1[Option ID=45601] Question Description : dwbv_pg_gp30_eng_2_q26
2[Option ID=45602]
3[Option ID=45603]
4[Option ID=45604]

Sl. No.27
QBID:30201027

Which of the following statements is logically equivalent to the statement-"some plants are carnivorous organisms.”?

1. No carnivorous organisms are plants.

2. Some plants are non-carnivorous organisms.

3. No plants are non-carnivorous organisms.

4. Some plants are not non-carnivorous organisms.

1)
(2)
(3)
(4)

FrfeRed 7 9 B9 Sy Tid® ©U U 38 HY- S GAJA ¢ - "DD UGy AIGERI Sl 8ld 82

1. @13 i AlEER] S5 ured 981 8T 2|

2. F@ UGY IR - HiGBRI S| gid g1

3. @18 1 UIeu MR - AOTERT Sfid T8l srar gl
4. T Uy IR-AMEERI a7 el 8

A W N =

(1)
(2)
(3)
(4)

D W N R

1[Option ID=45605] Question Description : dwbv_pg_gp30_eng_2_q27
2[Option ID=45606]
3[Option ID=45607]
4[Option ID=45608]

Sl. No.28
QBID:30201028




"Supporters of the ABC Political Party are against gun control and Republicans are also against gun control, so some
Republicans must be supporters of ABC Political Party.” Identify the fallacy in the above argument.

1. Affirming the consequent
2. Denying the antecedent
3. Ad hominem

4. Undistributed Middle

1)
(2)
(3)
(4)

A W N R

T &t Ot Tefod 5a & ad® 95w - e & faeg B iRk Rufsae= oft 959 - iau & faeg € sofon oo Rufsrs- v
Tl UoHia® aa & 9P g it |” IuRiad gfad | faedH dha @ fafed Sifoe ?

1. Hodid - fau
2.3da1 - Py
3. TS Bifg|
4, O &

(1)
(2)
(3)
(4)

H W N R

1[Option ID=45609] Question Description : dwbv_pg_gp30_eng_2_q28
2[Option ID=45610]
3[Option ID=45611]
4[Option ID=45612]

Sl. No.29
QBID:30201029

Which of the following statements are contrary to each other?
A, All human beings are mortal.

B. No human beings are mortal.

C. Some human beings are mortal.

D. Some human beings are not mortal.

Choose the correct answer from the options given below:

1. A and D only
2.Band Conly
3. Aand B only
4. A and C only

1)
(2)
(3)
(4)

P W N R




FufaRed § 4 &H 3 &Y U6 gk & AWl § 2
A S B AR B B
B. 13 1t A TR eI BT B
C. T3 ™ TR e &
D. TS A% %R el 81d &
e R fawedi 9 e I T -
1. ®aa A HR D
2.®ad B 3R C

3.%dd A 3R B
4. HAAA AR C

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45613] Question Description : dwbv_pg_gp30_eng_2_q29
2[Option ID=45614]

3[Option ID=45615]
4[Option ID=45616]

Sl. No.30
QBID:30201030

Which of the following sources of knowledge according to classical Indian school of logic is defined as a statement of a
trustworthy person(aptavakya) and consists of understanding its meaning?

1. Sabda

2. Anumana
3. Upamana
4. Anuplabdhi

1) 1
) 2
3) 3
(4) 4

HRAIG ARG dch Ad & SFUR HERad # ¥ 94 & 59 9id & Adard ([9ya-ig aafdd &1 &yF) & 9 § gRyid &
T E R e g el ey wfia g 2

1. ey

2. AN
3. 9UHA

4. JrgOafe

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45617] Question Description : dwbv_pg_gp30_eng_2_q30
2[Option ID=45618]

3[Option ID=45619]
4[Option ID=45620]

Sl. No.31
QBID:30201031




Which is the smallest of these data storage capacities?

1.2 KB

2. 2049 Bytes
3.05MB
4.3 GB

1)
(2)
(3)
(4)

FofafEd sfi@ar (3o YR e f Y agaa s 918 7

1.2 Bdl

2.2049 dl5¢
3.0.5 THE]
4.3 Slidl

H W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45621] Question Description : dwbv_pg_gp30_eng_2_q31
2[Option ID=45622]
3[Option ID=45623]
4[Option ID=45624]

Sl. No.32
QBID:30201032

Which of the following communication systems would best enable a meeting to take place between people working in
different locations?

1. VoIP

2. Email

3. Voicemail

4, Text messaging

(1)
(2)
(3)
(4)

Fafafad Tar gunferml & 9 &H 9@ yoel e - i ®iHl )R Srikd afdad! & did 96® & e of Raliid $3- g
Faraa ghft 2

1.9t 3 38 ot

2.39d

3. 939 5T

4. U168 T (TS Hw)

D W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=45625] Question Description : dwbv_pg_gp30_eng_2_q32
2[Option ID=45626]
3[Option ID=45627]
4[Option ID=45628]

Sl. No.33
QBID:30201033




Given below are two statements:
Statement I: Wireless (Wi-Fi) networks are less secure than hard-wired systems.

Statement II: A series of digital media files that are released at regular intervals and downloaded to the user's computer are
known as Podcasts. These media files are stored and maintained centrally.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
3)
(4)

A W N =

T - | : 9aR (@3-BT3) ~edd HAR - dR arel Wunfed! & gaT § &4 Geied eid ¢

YA - || : AT SfaRTal R SRT 3R Wiiddl & B H SISAds di s [Sioed Hiisdl Bdl & 5 &I UShRe & &0
T S STl 81 4 Hifsa1 Bigal &1 YSRU d cEYd Bad ¥4 U fbal 1l |

Sudad BYHl & SHelld H FHfeRed [dwel § ¥ 98 Sw g -

1. @Y | R 1 GE TT B

2. BT | R NI GHI 3 &

3. @Y | 9 ¢, [ BYH 1| AT B
4. T | A B, g Y 1 TI B

1)
(2)
3)
(4)

A W N R

1[Option ID=45629] Question Description : dwbv_pg_gp30_eng_2_q33
2[Option ID=45630]
3[Option ID=45631]
4[Option ID=45632]

Sl. No.34
QBID:30201034

Which of the following are computer input devices that can best support students with a visual impairment?
A. Microphone

B. Foot mouse

C. Braille keyboard

D. Joystick

E. Speaker

Choose the correct answer from the options given below:

1. A and B only
2.Band D only
3.C, D and E only
4. A and C only

1 1
) 2
3) 3




(4) 4

Frafaied § 9 @M - @ 9 o Fiay gied =P sred ard il & [ gaiad asee & 2
A AEHIBH
B. B¢ AI3Y
C.od Plars
D. Sl ®
E. WH3
4 feu e g el 5 9 9l Iw 9 -
1. ®dc A IR B
2.%ad B 3R D

3. W3 C, D ANE
4. FTAA AR C

1)
(2)
(3)
(4)

H W N R

1[Option ID=45633] Question Description : dwbv_pg_gp30_eng_2_q34
2[Option ID=45634]
3[Option ID=45635]
4[Option ID=45636]

Sl. No.35
QBID:30201035

Match List | with List Il

List | (Internet . .
List Il (Description)

term)

A Blogs . Include soll"twalrelthat aIIo-ws users to create and edit web pages using a browser. Anyone is able to
create or edit this information

B. Social II. A type of bookmarking where a user "marks"” a webpage or photo using text to describe its contents.

Networking sites  |Anyone can view the webpages or photos corresponding to these "markers”.

ll. Allow interaction of people online. Users can add friends, post messages and update their personal

C. Taggin
99ing profiles to notify friends about their status.

D, Wiki IV. Personal internet journals where a writer enters text about a particular topic or person; anyone can
. Wikis

comment on topic.

Choose the correct answer from the options given below:

TA-NLBE-ILC-I,D-1IV
ZA-ILB-1L,C-1ILD-1IV
3A-LB-ILC-1L,D-IV
4 A-IVB-NILC-1,D-1

1)
(2)
(3)
(4)

H W N R




T -1 Bl G -1 Y gHferd i

a@?{-
| @eee [t - 1 (faawm)
T3)
1. 39 98 HUedm IMHT & Sl Hhiad] ®I JiegoR &l
A ST TEdl Y 49 UF 39 3R Yulied &3 ol ol iy 4 59
T DI T YAl HuTeH P 9Dhdl o
5. Tt II. Ush UhR B [ (-8 foraH Taiadr el dd g Sl
S o @ Siqd¥g & aUH @3- & 11U 418 BT WA X 34
ffed W ad 5| B ff e 59 Tl & T9@4 99
Hze Ut 3refar oA & <@ b 2|
111, ATl @Y ST Sfafiar @i Ak &l & | JaiE
C 3 531 Bl IS Wbl & G681 U B Habdl g SR 30 53l
' @1 o fufa & IR 3 g &3 & o o afdara
THISd @ Hed B 9od ol
IV, JGIE 3e3e oid [oTgd Dis oad [pal [qud fyal
D.ffow [@FaRdun I U ma s ok Hsaim®w
ol &) Ul &
J w7 fawedt & @ wel IR g
1T.A-I,B-1,C-1,D-IV
2.A-1,B-1LC-1IL,D-1V
3.A-1,B-1I,C-1ILD-IV

1)
(2)
(3)
(4)

4 A-IVB-NILC-1,D-1

H W N R

1[Option ID=45637] Question Description : dwbv_pg_gp30_eng_2_q35
2[Option ID=45638]
3[Option ID=45639]
4[Option ID=45640]

Sl. No.36
QBID:30201036

Which of the following Sustainable Development Goals (SDGs) pertains to climate action?

1)
(2)
(3)
(4)

1.5DG 11
2.5DG 12
3.5DG 13
4.5DG 14

P W N R

FufeRed 5 ¥ @H W1 Uad e ded (qusien) saayg e8¢ aridrg ¥ J6td g ?

(1)
(2)
3)
(4)

1. T ES 11
2. Tg S 12
3. T EIS 13
4. U319l 14

A W N =

1[Option ID=45641]
2[Option ID=45642]

Question Description : dwbv_pg_gp30_eng_2_q36




3[Option ID=45643]
4[Option ID=45644]

Sl. No.37
QBID:30201037

Given below are two statements:

Statement I: International Solar Alliance (ISA) is an alliance of countries most of which lie between tropic of cancer and pole.

Statement II: Presently, ISA is headed by India.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement |l are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)1
) 2
3) 3
(4) 4

TR e By U g :

Y - | JRITT IR Y (e U i 9 i g R @ sfiedk od Y IR yd A g
WY - 1| : GAHA H S TH U D] A HRA 5

Sudad BYHl & SHelld H FHfeRed [dwel § ¥ 98 Sw g -

1. @Y | 3R 11 GH T8 B
2. YA | 3R I SH e B
3. @Y | TE1 8, g BYA 11 7T & |
4. Y | 7T &, farg &Y 1| TET B

1)
(2)
(3)
(4)

A W N R

1[Option ID=45645] Question Description : dwbv_pg_gp30_eng_2_q37
2[Option ID=45646]
3[Option ID=45647]
4[Option ID=45648]

Sl. No.38
QBID:30201038

Halons, kinds of Ozone Depletings Substances(ODS), were essentially and widely used in

1. Refrigerators

2. Air conditioners

3. Aerosol spray propellents
4. Fire Extinguishers

1)
(2)
(3)
(4)

A W N R

ST 3@t uerdf (SIEITy) & TR sa-d Hgfaiad o O feg o faard ok saues T 3 e feuend 2 2
1. 3o
2. U3 haE-R
3. IRiTa & dies
4. U=

1) 1




(2) 2

3) 3

4) 4

1[Option ID=45649] Question Description : dwbv_pg_gp30_eng_2_q38
2[Option ID=45650]

3[Option ID=45651]
4[Option ID=45652]

Sl. No.39
QBID:30201039

Kyoto Protocol(1997) was about

1. Protection of ozone layer
2. Reduction in Green House Gas emissions
3. Conservation of Biodiversity

4. Limiting the rise in global temperature to 2°C above pre-industrial times.

1)
(2)
(3)
(4)

A W N R

Fgiel Aieiaid (1997) Fafafad § 9 fpas an d o1

1. 37T U ST TEf0T

2. ¥ 8139 719 3o &l 9o & fog

3. 9ig Afgya &1 e

4, AP AIUgls DI Uid-SHfE BId ¥ 2° Wichas da Yiffd W1

(1)
(2)
(3)
(4)

H W N R

1[Option ID=45653] Question Description : dwbv_pg_gp30_eng_2_q39
2[Option ID=45654]
3[Option ID=45655]
4[Option ID=45656]

Sl. No.40
QBID:30201040

Schistosomiasis, a water associated disease, is caused by

1. Ingestion of contaminated water

2. Contact with contaminated water

3. Lack of sufficient water to maintain cleanliness
4. Vectors grown on contaminated water

(1)
(2)
(3)
(4)

it Gt A Rreriieiyy Fafaiad § 9 s grigag ¢

1. Hgtd o & g g

2. Ygftd ofd & 91y d9d o

3. TPl B o@ed & g Taid o & 341G ¥
4. Tt & W 40 J7digd! 9

A W N =

1)
(2)
(3)
(4)

P W N R

1[Option ID=45657] Question Description : dwbv_pg_gp30_eng_2_q40
2[Option ID=45658]




3[Option ID=45659]
4[Option ID=45660]

Sl. No.41
QBID:30201041

Given below are two statements:

Statement I: According to NEP 2020, Teaching and learning of Indian languages need to be integrated with school and
higher education at every level.

Statement Il: UNESCO has declared 220 Indian languages as ‘endangered'.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false,
4, Statement | is false but Statement Il is true,

1) 1
2) 2
3) 3
(4) 4

TR FERume:

DY - | : TARUT 2020 B SHFUR YR HINI31 & FRI&0T d SUTH @I Udd TR W 3Gl 9 Iod [1&7T & Y GHidbd B DI
HTEHAT |

B - || : TADI + 220 U U913 & FHeud (e s) Hiftd [ 2|

SUddd BYHl & Hcild H HafiRad fasel # ¥ 98 3w g -

1. YT | 3R 11 G T B

2. T | SR 1 &FT A B

3. @Y | 9 &, [ HYH || ST B
4. T | 39d 8, g Y 11 TA B

(1)
(2)
(3)
(4)

H W N R

1[Option ID=45661] Question Description : dwbv_pg_gp30_eng_2_q41
2[Option ID=45662]
3[Option ID=45663]
4[Option ID=45664]

Sl. No.42
QBID:30201042

Which of the following recommended the establishment of national universities in India?

1. Kothari Commission

2. Radhakrishnan Commission
3. Knowledge Commission

4. Yashpal Commission

(1)
(2)
(3)
(4)

D W N R




Frafaiad # 9 fee yRd | A9 fayfaemad o @it &3 ot e o 4 2

1. BIBRI AR
2. MUTHUH AR
3. M R

4. TS gt

1)
(2)
(3)
(4)

H W N R

1[Option ID=45665] Question Description : dwbv_pg_gp30_eng_2_q42
2[Option ID=45666]
3[Option ID=45667]
4[Option ID=45668]

Sl. No.43
QBID:30201043

Which of following acronym and its expansion are incorrectly matched?

1. NCERT- National Council of Educational Research and Training.
2. NCTE- National Council for Teacher Education

3. ICAR- Indian Council for Applied Research

4. AICTE- All India Council of Technical Education

1)
(2)
(3)
(4)

e & O S uiart et SR 309 TwR (Uen) T8 ey gafaa el o 7

1. TR RE - 334 Befd i tgeH Rad wos 2T
2. TIPS - 93T SIS B SR UedhEH

3. IMEUESR - 30 ST BIR @Rs g

4, UHTSHIET - I 3UsT1 dIESRT SHi® <o TadheH

H W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=45669] Question Description : dwbv_pg_gp30_eng_2_q43
2[Option ID=45670]
3[Option ID=45671]
4[Option ID=45672]

Sl. No.44
QBID:30201044

Given below are two statements:

Statement I: Fostering local competencies among students and teachers is one of the core values promoted by NAAC
(National Assessment and Accreditation Council) among the institutions of higher learning.

Statement II: Improving the overall quality of State institutions is one of the objectives of RUSA (Rashtriya Uchchatar Shiksha
Abhiyan).

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false,
4. Statement | is false but Statement Il is true.

1) 1
(2) 2




3) 3
(4) 4

B - | : I e ST o farenffal @ el & i g Qaddre o1 e o1 09 U T O @ Sidha U uReg)
TR Haftid e Hedl Y uD B

HY - || : ol TR D1 GHY UG H R ST 3R G TH U P19 FoAa? 12147 31fHar) $1 Us 352 5
Sudad BYHl @ Held H FEfiRed el § ¥ 98l w4 -

1. @Y | R 1 GE TT B

2. BT | AR I GHT A B

3. YT | 9 &, [ B 1| AT B
4. T | A g, g Y 1 TI B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45673] Question Description : dwbv_pg_gp30_eng_2_q44
2[Option ID=45674]

3[Option ID=45675]
4[Option ID=45676]

Sl. No.45
QBID:30201045

The major suggestions of Rammurthy Committee on education were:

A. Derecognition of the UGC.

B. Abolition of agricultutral universities.

C. Decentralisation of higher education.

D. Focus of universities on teaching of post-graduate classes and reasearch.

E. Inservice training for university and college teachers to improve quality of teaching.
Choose the carrect answer from the options given below:

1.4, B and Conly
2.B, Cand D only
3.C, D and E only
4. A, D and E only

(1) 1
(2) 2
3) 3
(4) 4




e & Hee H Il 9iEfd & FEftfed H 9 M - s ugE gEE U 2
A ToITEl 1 7] THIE B
B. B fagfaeerdl &1 3=
C. 3 &l &1 =i
D. W TR B&T & [RI&0T 2y W fayfaamd! o by
. & @ Tqorar & QR & R fRufaemeat 3 qeifaeedl & orid @1 afde) et og ufiem
i feg e fapedl § 9 9l FW A -
1.59d A, B 3R C
2.®dd B, C 3R D

3.%dd C, D AN E
4. HGdA D IR E

(1)
(2)
3)
(4)

A W N =

1[Option ID=45677] Question Description : dwbv_pg_gp30_eng_2_q45
2[Option ID=45678]
3[Option ID=45679]
4[Option ID=45680]

Sl. No.46
QBID:30201046

Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI & per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 134
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well il
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccoili,etc) and leafy greens, turns plentiful and affordable.

= fag g e #7 ufey ok wst F I g :

Tt IuHIad] Hed Gadbid (Il Ul 3113) GErepiid [GTaw 2021 & dlg U Yo dR HawR | fUsd #18 @1 6.77 Ui 9 iR &3
5.88 UfARId 81 T3 3R 98 YRAY oid 3% @1 6 Ufad &1 Swidd Te-=iiad 9iH 8 &4 & | ARiie Sde- ool (315 37
) H ageR ¥ a9 - &% - 99 4 Ui Yo gl foH i & @monerd 5.6 UiiRE) SR U 9 Haw farea i &
WRIE IueE! B deauyl YH@T @, odre IuMad g (BUTES 15.3 UA¥E), R - &S BodEs 13.4 UAe6)
R UeliTd A1 AU 2.3 Uiagid) | T9F €9 d s - 19 Uiddel & gelU 9H & Uglq ¥ SUHAT g &l 9gH aldl Aaos
AT ®1 SR 3@ IR 1 g1 A Bl A4 % Th B DIy (9% ¢, e ao IoH FeRH @R gl i &+ 9 Hel & gad
BUTES &7 H Ua% B T B

3O% 1Y B Uafg T 31 e qEhia Hed B ol 8 S mred 81 Faak # oaRied d TRae gud: @e awgad 3 e
ot forgH 3fagar | 7.01 UfARId ¥ 4.67 UARd @1 AAtd FRIAE 33| 39®H1 SRUI Yool 3R Bd 4| -] 9 ¥ JrgH
T &1 Uidffad Bd §U S0 HRHId BUTHS 8.08 Ui=Id d BUTHS 2.62 Uia=d Rars @1 715 : id g | eHeR U @i
T (SaTe0l & &4 H 7, &g M, sidiah 1) SR e Uil arell Ufesri 9gardd H $R 94 9 sidl o




In October, the index of industrial production fell by

1. 5.88%
2.6.77%
3.4%

4. 5.6%

1)
(2)
(3)
(4)

HaqeR # ARfe IdTeH Gadid § oo fvmae o ¢

1.5.88 %
2.677 %
3.4%

4. 5.6 %

H W N R

(1)
(2)
3)
(4)
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1[Option ID=45681] Question Description : dwbv_pg_gp30_eng_2_q46
2[Option ID=45682]
3[Option ID=45683]
4[Option ID=45684]

Sl. No.47
QBID:30201047

Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI 6 per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 134
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well il
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccoili,etc) and leafy greens, turns plentiful and affordable.

< fag g T #7 Ul ofik ust F IR g -

Tt IuHIad] Hed Gadbid (Il Ul 3113) GErepiid [GTaw 2021 & dlg U Yo dR HawR | fUsd #18 @1 6.77 Ui 9 iR &3
5.88 UfId 81 T8 AR 98 YRAY od 8% @1 6 Wawd @1 Sw=ad Te-=iiad 99 4 &4 & | ARiie Sde- qaoi® (31 37
0 7 saqeR ¥ aY - &3 - a9 4 ufawa dgpad g forge fafafor e @somers 5.6 vfasma) SR 3u4eT 3 FHaw fareandl &
WRIE IueE! B deauyl YH@T @, odre IuMad g (BUTES 15.3 UA¥E), R - &S BodEs 13.4 UAe6)
R UeliTd A1 AU 2.3 Uiagid) | T9F €9 d s - 19 Uiddel & gelU 9H & Uglq ¥ SUHAT g &l 9gH aldl Aaos
AT ®1 R 3@ IR 1 5| A Bl A4 9% T D DIy 195 ©, [deR ao IuH Y- IR gl Faid & o 3 Hel & gad
BUTES &7 H Ua% B T B

3O% 1Y B Uafg T 31 e qEhia Hed B ol 8 S mred 81 Faak # oaRied d TRae gud: @e awgad 3 e
of formH 3fagar H 7.01 UARId U 4.67 URARd @1 AAtd FRIGE 313 | 3USH] SRUI Jleadi 3R Bd 4| -5 9 U J
T &1 Uidffad Bd §U S0 HRHId BUTHS 8.08 Ui=Id d BUTHS 2.62 Uia=d Rars @1 715 : id g | eHeR U @i
T (SaTe0l & &4 H 7, &g M, sidiah 1) SR e Uil arell Ufesri 9gardd H $R 94 9 sidl o




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Consumption levels increased sharply after Covid-19 restrictions were lifted.

Reason (R): The demand for goods had accumulated due to frequent Covid-19 restrictions and lockdowns.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is not the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1)
(2)
(3)
(4)

TR T B RUTUE: TP 31 AH (A) 3R G & SR (R) BT T 2|
HTHBYT (A) : IS - 19 Hidael I Y ST UEI U4 &I 4 did 3fs g3
PR (R) : 9R - §R BIfas Ufaeyl @ Ai@siel & SR ATd! &1 7 S gl 715 oA
IuE DYl & Aciep | fFifehd fapedl # 9 gl IR I -

A W N R

1. (A) 3R (R) GFT T8I & 3R (R), () B! G&l ARAT & |
2.(A) ¥R (R aﬁ’fﬂﬁﬁmﬁ )ﬁﬂﬁwq‘aﬁ%
3. (A) BT 8 R R}"@lﬁqﬁ%l
4. (A) 981 78T € W (R) HEI B
1) 1
2) 2
(3) 3
4) 4

1[Option ID=45685] Question Description : dwbv_pg_gp30_eng_2_q47
2[Option ID=45686]
3[Option ID=45687]
4[Option ID=45688]
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Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI 6 per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (lIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 134
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccaeili.etc) and leafy greens, turns plentiful and affordable.

= faw 7T ey @ U3y ofiR wst F S St

Tt IuHIad Hed Yabi® (& Ul 3M1%) GErepifd fGHaT 2021 & g § WuH dR "awR | U@ #E @1 6.77 Ui ¥ R &3
5.88 U= 81 T3 AR 98 HRAG Roid 96 &1 6 UARd &1 Iwdad YeAied] Ui 8 &H g | ARiiie Sded Jadid (15 s
) H srgER H gy - & - 9y 4 UiRd dgrad gon o RfEi a cauiad 5.6 Uidwra) SR IuHiT 9 Faw feamand! &
WRIgT IUeE! B Aew@yYl YFDT W, Tdre IuHied ol @BUTE® 153 WaR@), IR - o @udEs 13.4 Uia=)
R UoliTd |1 CEUTED 2.3 Uiaed) | ¥9F €U d SIS - 19 Ufddel & 82U JH & Uglq 4 SUHRT 309 &l d¢H aldl des
A &1 SR 3F IR T &1 7 & 744 F1a9% 99 & 13 o8 &, [der db 399 Uee &3 g1 aid &7 +ff 3fde #d & 9ad
BUTES &5 H Yo HL T gl

UG 1Y Bl 4alg Ha @ HIed GERBITd He B qo H S s@ied | "Jdax H sfaRiad H FRIae J3a: @re asgei 9 ot
ot Fore SfagER o 7.01 TG ¥ 4.67 Ufo= @1 S@fi® TRae 315 | 3@ SRU Jiead! 3R Bd 4| §Hae! 9 I Hot
S &1 Ufdfdfad Bd §U 378 HaITd BUTHES 8.08 U=Id  BUTHS 2.62 Ua=d RaTs @1 75 : Uid Bd | <HRR ¥ did
U (SaTevl & & H 7T, dg T, Silen o) SR e Uil arell Ufesral 9garad H 3R 984 9rg sidl o

Which of the following registered the maximum percentage reduction in October?

1. manufacturing

2. consumer durables
3. non-durables

4. capital goods

1)
(2)
(3)
(4)

A W N =

SageR H Fafiad H 9 e siftsan ufazrd &4 ofg ?

1. Tafmio

2. fe®Ta JuHia a&L
3.7R - e@1s awqu

4. JSiNTd A1

(1)
(2)
(3)
(4)

D W N R

1[Option ID=45689] Question Description : dwbv_pg_gp30_eng_2_q48
2[Option ID=45690]
3[Option ID=45691]
4[Option ID=45692]




Sl. No.49
QBID:30201049

Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI & per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (IIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 134
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
brocceili,etc) and leafy greens, turns plentiful and affordable.

= fag g Tew #7 ufey off wst F I g :

Tt IuHIad] Hed Gadbid (Il Ul 3113) GErepiid [GTaw 2021 & dlg U Yo dR HawR | fUsd #18 @1 6.77 Ui 9 iR &3
5.88 UfARId 81 T3 3R 98 YRAY oid 3% @1 6 Ufad &1 Swidd Te-=iiad 9iH 8 &4 & | ARiie Sde- ool (315 37
) o ageR ¥ a9 - &3 - 99 4 Ufd=a Yoo gefl [ i &3 @moned 5.6 UiiR) SR SuHT 9 Haw feareandl &
WRIE IueE! B deauyl YH@T @, odre IuMad g (BUTES 15.3 UA¥E), R - &S BodEs 13.4 UAe6)
R UeliTd A1 AU 2.3 Uiagid) | T9F €9 d s - 19 Uiddel & gelU 9H & Uglq ¥ SUHAT g &l 9gH aldl Aaos
AT ®1 SR 3@ IR 1 g1 A Bl A4 % Th B DIy (9% ¢, e ao IoH FeRH @R gl i &+ 9 Hel & gad
FUTED &F & TO B T B

3O% 1Y B Uafg T 31 e qEhia Hed B ol 8 S mred 81 Faak # oaRied d TRae gud: @e awgad 3 e
ot forgH 3fagar | 7.01 UfARId ¥ 4.67 UARd @1 AAtd FRIAE 33| 39®H1 SRUI Yool 3R Bd 4| -] 9 ¥ JrgH
T &1 Uidffad Bd §U S0 HRHId BUTHS 8.08 Ui=Id d BUTHS 2.62 Uia=d Rars @1 715 : id g | eHeR U @i
T (SaTe0l & &4 H 7, &g M, sidiah 1) SR e Uil arell Ufesri 9gardd H $R 94 9 sidl o

Given below are two statements:

Statement I: All the food items this November were cheaper as compared to November last year.
Statement II: Vegetables this November were cheaper than those last November.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement |l are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
(3) 3
(4) 4




EIERAR AN AR IR

YA - | - [UST U FdR B g1 § 59 FdeR H ol ETe aege ud o
YA - || : [0S FaaR &I do-1 § 39 "de? | Tisad! Il off|

Sudad BYHl & SHelld H FHfeRed [dwel § ¥ 98 Sw g -

1. @Y | R 1 GE TT B

2. BT | AR I GHT A B

3. @Y | 9 ¢, [ BYH 1| AT B
4. T | A B, g Y 1 TI B

1)
(2)
3)
(4)

A W N R

1[Option ID=45693] Question Description : dwbv_pg_gp30_eng_2_q49
2[Option ID=45694]
3[Option ID=45695]
4[Option ID=45696]
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Read the passage and answer the questions that follow:

Annual consumer price index (CPI) inflation fell to 5.88 percent in November, from the previous month's 6.77 percent and
below the RBI 6 per cent upper tolerance limit for the first time since December, 2021. The index of industrial production (lIP)
contracted 4 percent year-on-year in October, led by manufacturing (minus 5.6 percent) and also the sub-sectors that are
proxies for consumption and investment activity: Consumer durables (minus 15.3 percent), non-durables (minus 134
percent)and capital goods minus 2.3 percent). Clearly.the pent-up demand that fueled consumption spending post the lifting
of Covid-19 restrictions has ebbed. Nor are there signs of a fresh investment cycle even as exports-which were doing well til
September- have entered negative territory on the back of a global slowdown.

That said the evidence on growth slowing is more compelling than on inflation moderating The latter's decline in
November had mainly to do with food, which registered a steep dip to 4.67 percent from 7.01 percent in October. That, in
turn, was courtesy of vegetables and fruits These recorded inflation of minus 8.08 percent and 2.62 percent, basically
reflecting a seasonal trend: Winter is when supply of fresh produce, from tomatoes to cole crops)(e.g Cauliflower, cabbage,
broccaeili.etc) and leafy greens, turns plentiful and affordable.

= faw 7T ey @ U3y ofiR wst F S St

Tt IuHIad Hed Yabi® (& Ul 3M1%) GErepifd fGHaT 2021 & g § WuH dR "awR | U@ #E @1 6.77 Ui ¥ R &3
5.88 U= 81 T3 AR 98 HRAG Roid 96 &1 6 UARd &1 Iwdad YeAied] Ui 8 &H g | ARiiie Sded Jadid (15 s
) H srgER H gy - & - 9y 4 UiRd dgrad gon o RfEi a cauiad 5.6 Uidwra) SR IuHiT 9 Faw feamand! &
WRIgT IUeE! B Aew@yYl YFDT W, Tdre IuHied ol @BUTE® 153 WaR@), IR - o @udEs 13.4 Uia=)
R UoliTd |1 CEUTED 2.3 Uiaed) | ¥9F €U d SIS - 19 Ufddel & 82U JH & Uglq 4 SUHRT 309 &l d¢H aldl des
A &1 SR 3F IR T &1 7 & 744 F1a9% 99 & 13 o8 &, [der db 399 Uee &3 g1 aid &7 +ff 3fde #d & 9ad
BUTES &5 H Yo HL T gl

UG 1Y Bl 4alg Ha @ HIed GERBITd He B qo H S s@ied | "Jdax H sfaRiad H FRIae J3a: @re asgei 9 ot
ot Fore SfagER o 7.01 TG ¥ 4.67 Ufo= @1 S@fi® TRae 315 | 3@ SRU Jiead! 3R Bd 4| §Hae! 9 I Hot
S &1 Ufdfdfad Bd §U 378 HaITd BUTHES 8.08 U=Id  BUTHS 2.62 Ua=d RaTs @1 75 : Uid Bd | <HRR ¥ did
U (SaTevl & & H 7T, dg T, Silen o) SR e Uil arell Ufesral 9garad H 3R 984 9rg sidl o




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Food inflation in winters is generally low.

Reason (R): The demand for food items in winter is lower than that in other seasons.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is not the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1) 1
(2) 2
3) 3
(4) 4

TR T B RUTUE: TP 31 AH (A) 3R G & SR (R) BT T 2|
SHHEBY (A) : TdbTe H G IR Id 9HEFIal &5 8d] 6

BRUT (R) : 30 BH! DI 37Ul 2d S § TR I3 B 717 HH el g
Qe BYAl & i J Faifed fabed! H 9 ¥81 Iw g -

1. (A) 3R (R) GFT T8I & 3R (R), () B! G&l ARAT & |
2.(A) ¥R (R aﬁ’fﬂﬁﬁmﬁ )ﬁﬂﬁwq‘aﬁ%
3. (A) BT 8 R R}"@lﬁqﬁ%l

4. (A) 981 78T € W (R) HEI B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=45697] Question Description : dwbv_pg_gp30_eng_2_q50
2[Option ID=45698]

3[Option ID=45699]
4[Option ID=45700]
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1. a1 Yhawid 98 71H 3R |
2. Yearfal: TrE: T Ieard |

3. Tearefar: fieT: 2%, T S4RPaT Yeba b |
4. Ve AHfAd: dad, ¥ Wd Ud Uh1ead |

1) 1

o »

(3) 3

(4) 4

1[Option ID=46161] Question Description : sanskrit_sanskrit_set 1_sanskrit_q16
2[Option ID=46162]
3[Option ID=46163]
4[Option ID=46164]

Sl. No.17
QBID:125017
[ i

TG XY AT -

I @EH
 qYaufHan
ACLEEIGE]

AU
1) 1
(2) 2
(3) 3
(4) 4

L R S N

=

1[Option ID=46165] Question Description : sanskrit_sanskrit_set 1_sanskrit_q17
2[Option ID=46166]
3[Option ID=46167]
4[Option ID=46168]

Sl. No.18
QBID:125018

AR UAEAIIEAAT Sfa-Rbd [Uqdlbddalb TR S YHIU -

1. HHUT fUqaie: faemn qadie samfeyfd: |

2. HIGAT fUgHT Smdar 9ol g 3fd wid: |
3. 991 Hedy gl 3fd i |

4. THTHIAT derHad-- gfd Suiyga-H |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46169] Question Description : sanskrit_sanskrit_set 1_sanskrit_q18
2[Option ID=46170]
3[Option ID=46171]
4[Option ID=46172]

Sl. No.19
QBID:125019




-GS - SATEa: HINT: T -

1. ANTAGa R
2. ANTTAB A

3. TRfAgH:
4. T[qH 9

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=46173] Question Description : sanskrit_sanskrit_set 1_sanskrit_q19
2[Option ID=46174]

3[Option ID=46175]
4[Option ID=46176]

Sl. No.20
QBID:125020

TAHRIUHINIU Haiig YhRT: G -

1. YGRT:, DUSATTAT:, HUSTSST:
2. oAl GaHET:, SATRIER:
3. 3B, 3, IR

4. GYIT:, SRz, HBATUL:

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46177] Question Description : sanskrit_sanskrit_set 1_sanskrit_q20
2[Option ID=46178]
3[Option ID=46179]
4[Option ID=46180]

Sl. No.21
QBID:125021

JEORNIGHITIAR Y -aTH, WOdTH ST aTeR0M ¥ Hafd -

1. HOMABROMAN: FHAY 31T HRHY F HAITT |
2. TRUMETAM dc: YA Hadifd |
3. AR 4Py Hadlld |
4. =g P~ YGIT: 3T Ud Hadifd |
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46181] Question Description : sanskrit_sanskrit_set 1_sanskrit_q21
2[Option ID=46182]
3[Option ID=46183]
4[Option ID=46184]

Sl. No.22
QBID:125022

Y REUCYE! &= - 3o el -

1. BiIGa*BRI SEledenafd ufaye 3id |
2. GHIABTHIG HagarTiaHald 3id |

3. AT fafRaaTaaes ol 3id |

4. 318G SfeTg ARy 3fd |

1) 1
) 2
(3) 3
(4) 4

1[Option ID=46185] Question Description : sanskrit_sanskrit_set 1_sanskrit_q22




2[Option ID=46186]
3[Option ID=46187]
4[Option ID=46188]

Sl. No.23
QBID:125023

' YD IY T G&idh USH - 37 [dSaradh RSBl UgH 3w -

1.@q
2. Tl

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=46189] Question Description : sanskrit_sanskrit_set 1_sanskrit_q23
2[Option ID=46190]

3[Option ID=46191]
4[Option ID=46192]

Sl. No.24
QBID:125024

TdAFBTAI T T TANT: 3 -

1[Option ID=46193] Question Description : sanskrit_sanskrit_set 1_sanskrit_q24
2[Option ID=46194]
3[Option ID=46195]
4[Option ID=46196]

Sl. No.25
QBID:125025

HIYDHRUEIT: FTTHTR JGI6 UM -

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=46197] Question Description : sanskrit_sanskrit_set 1_sanskrit_q25
2[Option ID=46198]

3[Option ID=46199]
4[Option ID=46200]

Sl. No.26
QBID:125026

S RUTYSCT: TIRT: Tld -

1. 1g: 31 ygad
2. R Ufdctoafd
3. 3 JIFT ldsl 9urEr: Hed: U 3 sfe
4. S7d: Dl HT:
1) 1
() 2




3) 3
(4) 4

1[Option ID=46201] Question Description : sanskrit_sanskrit_set 1_sanskrit_q26
2[Option ID=46202]
3[Option ID=46203]
4[Option ID=46204]

Sl. No.27
QBID:125027

TAHTARTHIGY g b A TH=TRI: |
SHITHI: TTeled RIMHIE! I 11!
- 3 DRI AR DU 2

1
(2) 2
(3) 3
(4) 4
1[Option ID=46205] Question Description : sanskrit_sanskrit_set 1_sanskrit_q27
2[Option ID=46206]

3[Option ID=46207]
4[Option ID=46208]

Sl. No.28
QBID:125028

RIS Hadige=iH e DraAqast amdam sfd i -

2. AnefimEaid

R ENCINCEEHEIC

4. AddH P Gl
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=46209] Question Description : sanskrit_sanskrit_set 1_sanskrit_q28
2[Option ID=46210]

3[Option ID=46211]
4[Option ID=46212]

Sl. No.29
QBID:125029

b RIRTUT < 1 7 fasgAs i $id SreadlaR: HIRHA Al Sffkd 2

zza{f‘uslmmﬁ
3, JORHAR

. dUiRiER

o

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=46213] Question Description : sanskrit_sanskrit_set 1_sanskrit_q29
2[Option ID=46214]

3[Option ID=46215]
4[Option ID=46216]

Sl. No.30
QBID:125030




RO T P-delid gad GYTHH UEAT UM Td b Ba: -
1. Frafyof

2. FRR]
3. RMTgAdshiiSTH
4, F=ThII

1) 1

) 2

3) 3

(4) 4

1[Option ID=46217] Question Description : sanskrit_sanskrit_set 1_sanskrit_q30
2[Option ID=46218]
3[Option ID=46219]
4[Option ID=46220]

Sl. No.31
QBID:125031

STRHAR YEaHIGHIVRT HayfdaaTA Sge il gfd Sledq 2

EHS]
. aTeHIfHAr

. 3IPTIh U
AR
1) 1
(2) 2
(3) 3
(4) 4

L R S N

=

1[Option ID=46221] Question Description : sanskrit_sanskrit_set 1_sanskrit_q31
2[Option ID=46222]
3[Option ID=46223]
4[Option ID=46224]

Sl. No.32
QBID:125032

SHIYARITG I YUH: HFAdIE: B Pd: ?

. QYR EgIeUA
TIc-HgledH
faferameigagicaq
 HIqHRAG I

1) 1

() 2

(3) 3

(4) 4

S

I

1[Option ID=46225] Question Description : sanskrit_sanskrit_set 1_sanskrit_q32
2[Option ID=46226]
3[Option ID=46227]
4[Option ID=46228]

Sl. No.33
QBID:125033

gavigsi gt fraf=t geuRead: Sfe ue o8 IalgRURSYUl m=rdic JfctiRadH 2

1[Option ID=46229] Question Description : sanskrit_sanskrit_set 1_sanskrit_q33




2[Option ID=46230]
3[Option ID=46231]
4[Option ID=46232]

Sl. No.34
QBID:125034

Yaddi Ubidigdra arfda:

IREGd! YaHedi HelgdH I 3fd geHid -
. SRR

. TIAYHETRIA

BYaRd

= W o =

1)
(2)
(3)
(4)

A W N R

1[Option ID=46233] Question Description : sanskrit_sanskrit_set 1_sanskrit_q34
2[Option ID=46234]
3[Option ID=46235]
4[Option ID=46236]

Sl. No.35
QBID:125035

SRR TqHH EHRU} fb 2

1. s

2. GIAR{IT:

3. AN

4. HUCHNYTH
(1)
(2)
(3)
(4)

A W N =

1[Option ID=46237] Question Description : sanskrit_sanskrit_set 1_sanskrit_q35
2[Option ID=46238]
3[Option ID=46239]
4[Option ID=46240]

Sl. No.36
QBID:125036

e TSI =111 ool oA f: 3fd e 9= add 2

1[Option ID=46241] Question Description : sanskrit_sanskrit_set 1_sanskrit_q36
2[Option ID=46242]
3[Option ID=46243]
4[Option ID=46244]

Sl. No.37
QBID:125037




STPTGRAURTUY Uy -

S S T

faorRToT
 HHIIH
SIETRIUH
RIEYRIA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46245] Question Description : sanskrit_sanskrit_set 1_sanskrit_q37
2[Option ID=46246]

3[Option ID=46247]
4[Option ID=46248]

Sl. No.38
QBID:125038

[Fguca: I 2

. Ud gHIgdn: Hald |
. Od i Yal=T |

 Td FTaR: Haf=T |
 ud A vaf=y |

1) 1

(2) 2

3) 3

(4) 4

[ R R

=

1[Option ID=46249] Question Description : sanskrit_sanskrit_set 1_sanskrit_q38
2[Option ID=46250]
3[Option ID=46251]
4[Option ID=46252]

Sl. No.39
QBID:125039

SIIRIAY A : STBIHR: & 2

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=46253] Question Description : sanskrit_sanskrit_set 1_sanskrit_q39
2[Option ID=46254]

3[Option ID=46255]
4[Option ID=46256]

Sl. No.40
QBID:125040

AICH TR THTHURIER DTS T HSeAT 31 -

. 3{FN[P: (68)

. 3{gifd: (80)

. THI(: (71)
. S1dfd: (90)

1) 1
() 2
3) 3
(4) 4

[ S U T N R —

1[Option ID=46257] Question Description : sanskrit_sanskrit_set 1_sanskrit_q40




2[Option ID=46258]
3[Option ID=46259]
4[Option ID=46260]

Sl. No.41
QBID:125041

T o -

A. JdHYH

B. AU Uscar=Adl
c. ufdpalayrariayg:

D. 3¢y

E. HUUHHH

LY

3G IadbUT=TclD HeIfARIdY [dhety T & d -

. A, BHdaHq
B:Ne |
.C, D ®ddH
.D. E hdaH

1) 1
2) 2
3) 3
(4) 4

L R

d=

1[Option ID=46261] Question Description : sanskrit_sanskrit_set 1_sanskrit_q41
2[Option ID=46262]
3[Option ID=46263]
4[Option ID=46264]

Sl. No.42
QBID:125042

SRREYDTHN PIITR X: -

A. UTTLn
B. GdIdl
C. Udl
D. fadnfa:

E. fag:
3UR I UT=TclD HefRAdY fddhely T & d -

. A, B ®HdaH
. A, D ®daq
.C.D &ddHq
.D.E hdaH

1) 1
(2) 2
(3) 3
(4) 4

[ R e

=

1[Option ID=46265] Question Description : sanskrit_sanskrit_set 1_sanskrit_q42
2[Option ID=46266]
3[Option ID=46267]
4[Option ID=46268]

Sl. No.43
QBID:125043




SHITRAAY Fesehbic e U o -

A, TP
B. HYR®T
C. GGD:
D. TSIt

E. Il

JUR IFdb YTl SRy [dehedy FHfIaHR o -

1. A, Bddaq
2. A, CHdaH
3.C.D $daq
4.D.E $ddH

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46269] Question Description : sanskrit_sanskrit_set 1_sanskrit_q43
2[Option ID=46270]
3[Option ID=46271]
4[Option ID=46272]

Sl. No.44
QBID:125044

SHENTARIATY FerTy YBARNYGRI AT Gt & 2

A. HDHRUE Hald SHDHI-a: Yd aT fa-1e
B. JJ,UIIjQIQ:I 411 1 lcha

c. fafemrear: @ q gy

D. T uSd 3 grfema-ed i<

E. TUIaAT A4 QS Taileq

JUR IFdb YTl SRy [dehedy FHfIaHR o -

1. A, B$daq
2.B, C hddH
3.C.Ehdaq
4.A. D HqdH

1)1
(2) 2
(3) 3
4) 4

1[Option ID=46273] Question Description : sanskrit_sanskrit_set 1_sanskrit_q44
2[Option ID=46274]
3[Option ID=46275]
4[Option ID=46276]

Sl. No.45
QBID:125045




eafaRad-Te fam o -

A. fauHieuH
B. HUT¥eh0H
C. 3Yuey:
D. Fggd

IUR FFAB YR SeffaRady ey FHf<aaw < -

1. A, B hdaH
2.B, C HddHq
3.C. D &daq
4. B, D $daH

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46277] Question Description : sanskrit_sanskrit_set 1_sanskrit_q45
2[Option ID=46278]
3[Option ID=46279]
4[Option ID=46280]

Sl. No.46
QBID:125046

UGG THEGH -

A. JREBIEAH
B. UHIUfYg

C. Bl<rauiyg
D. USHIYHYG
E. SANGTRRGH

IGR IFIB YIS SR [dehedy FHfIaHR o -

1. A, B$daq
2. B, D Hdaq
3.C.D $daq
4.D.E $ddH

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=46281] Question Description : sanskrit_sanskrit_set 1_sanskrit_q46
2[Option ID=46282]
3[Option ID=46283]
4[Option ID=46284]

Sl. No.47
QBID:125047




A. HT YT YR (& |
B. X1 S{TITC] VI G |
C. I B4 Y TGy |

D. TR 3HERRY |
IUR FFAB YR SeffaRady ey FHf<aaw < -

1. A, B hdaH
2.B, C HddHq
3.B. D &daq
4.C,D$daH

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46285] Question Description : sanskrit_sanskrit_set 1_sanskrit_q47
2[Option ID=46286]
3[Option ID=46287]
4[Option ID=46288]

Sl. No.48
QBID:125048

TG4 BRI K: -

A HeleR:
B. Afcamy:

C. JsHe:
D. SRER:
E. Fid$hUs:

IGR IFIB YIS SR [dehedy FHfIaHR o -

1. A, B$daq
2.B, C hddHq
3. A, C haaq
4.D.E $ddH

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46289] Question Description : sanskrit_sanskrit_set 1_sanskrit_q48
2[Option ID=46290]

3[Option ID=46291]
4[Option ID=46292]

Sl. No.49
QBID:125049




3RIGHUIT T &: -

A, UTufeay

B. Wiigwgd

c. Rafsi®

D.s®fc®

E. 3T qufddr

R Fadbyreie feifeaRady fahedy qafaar fdd -

1. A, BHdaHq
2. A, C
3.C.D &daH
4.D, E ddaH

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=46293] Question Description : sanskrit_sanskrit_set 1_sanskrit_q49
2[Option ID=46294]
3[Option ID=46295]
4[Option ID=46296]

Sl. No.50
QBID:125050

ABHUTSIFHR deTely gRaford = &: -

IUR IaTp YAl SHETIRIAY faehedy TR e -

1. A, B hdaH
2. A, C hdaq
3.C.D &daH
4.B.D $daH

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46297] Question Description : sanskrit_sanskrit_set 1_sanskrit_q50
2[Option ID=46298]

3[Option ID=46299]
4[Option ID=46300]

Sl. No.51
QBID:125051




IUR FFAB YR SeffaRady ey FHf<aaw < -

A, B $Hdaq
.B.C Hdaq
.C.D$hdaH
.B.D &ddHq

1)1
(2) 2
3) 3
(4) 4

[T R R

=

1[Option ID=46301] Question Description : sanskrit_sanskrit_set 1_sanskrit_q51
2[Option ID=46302]
3[Option ID=46303]
4[Option ID=46304]

Sl. No.52
QBID:125052

AT AT SR -

A. FMaafafarery
B. A daumHIH
’ Al
D. TR

S

IUR FFAB YR SeffaRady ey FHf<aaw < -

A, B $Hdaq
.B,D &ddHq
.C.D$hdaH
.B.C Hdaq

(1) 1
() 2
3) 3
(4) 4

[ R R

=

1[Option ID=46305] Question Description : sanskrit_sanskrit_set 1_sanskrit_q52
2[Option ID=46306]
3[Option ID=46307]
4[Option ID=46308]

Sl. No.53
QBID:125053




SRIHIAP: 324d -

A. gy
B. PRURRRH
C. S RUH

D. 343

JYR IFIBYTTA D SRy [dehedy FHfIqHR o -

.B.C Hdaq
A, D HqaH
. A, C PHaaq
.B.D &ddH

(1) 1
(2) 2
3) 3
(4) 4

L R R

I

1[Option ID=46309] Question Description : sanskrit_sanskrit_set 1_sanskrit_q53
2[Option ID=46310]
3[Option ID=46311]
4[Option ID=46312]

Sl. No.54
QBID:125054

eI SR -

A Feam
B. 3I¥TH

C. T3Aq

D. YIquaH

IYR FFAB YR eIy el FHf<raHr < -

_A. B $Hdaq
.C,D &Hddq
.B.D $daH
.C.B&HdaHq

1) 1
) 2
(3) 3
(4) 4

L N R

=

1[Option ID=46313] Question Description : sanskrit_sanskrit_set 1_sanskrit_q54
2[Option ID=46314]
3[Option ID=46315]
4[Option ID=46316]

Sl. No.55
QBID:125055




IUR FFAB YR SeffaRady ey FHf<aaw < -

.C,D $hdaq
.B.C HdaH
. A.B$Hdaq
.B.D &ddH

1)1
(2) 2
3) 3
(4) 4

[T R R

=

1[Option ID=46317] Question Description : sanskrit_sanskrit_set 1_sanskrit_q55
2[Option ID=46318]
3[Option ID=46319]
4[Option ID=46320]

Sl. No.56
QBID:125056

3fe 3 IuT: §d -

A. JURHIGH
B. U
C. Y

D. AERATRYGIH

IUR FFAB YR SeffaRady ey FHf<aaw < -

A, B $Hdaq
.B.C Hdaq
.C.DhdaH
.B.D &ddHq

(1) 1
) 2
3) 3
(4) 4

[ R R

=

1[Option ID=46321] Question Description : sanskrit_sanskrit_set 1_sanskrit_q56
2[Option ID=46322]
3[Option ID=46323]
4[Option ID=46324]

Sl. No.57
QBID:125057




ST ST 4 -

A. '3{T 3TS: S [aefiamH SRy
B. Pely: s fdefiaar Brig
C. ' ATHAUSET: I [T BriH

D. TaIfe YTaRTH 34 {asfigar drin
IYR KBTI HETTIRIY faeh el SR < -

1. A, C hdaH
2.B,D $ddq
3. A, BHdaH
4.C,D$daH

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46325] Question Description : sanskrit_sanskrit_set 1_sanskrit_q57
2[Option ID=46326]
3[Option ID=46327]
4[Option ID=46328]

Sl. No.58
QBID:125058

qor-TH 372: TR -

A 3T g GUR: 3T
B. gR Ul 34
C. IR B¢ YOR: S

D. 31 YhallG sl S
IYR KBTI HETTIRIY faeh el SR < -

1. A, B hdaH
2.B, C HddHq
3. A, ChqaH
4. B, D $daH

1)1
(2) 2
3) 3
(4) 4

1[Option ID=46329] Question Description : sanskrit_sanskrit_set 1_sanskrit_q58
2[Option ID=46330]
3[Option ID=46331]
4[Option ID=46332]

Sl. No.59
QBID:125059




YN SIS Wsari ar fgcamtaHia: fafgdr ofd oy = add -

A, el
B. fpfEra-fbfErg

C. QA YH:
D. 3EISE:

IYR KBTI HETTIRIY faeh el SR < -

1. A, D hadq
2. A, C Hdayq
3.B.C $hddq
4. B, D $daH

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46333] Question Description : sanskrit_sanskrit_set 1_sanskrit_q59
2[Option ID=46334]
3[Option ID=46335]
4[Option ID=46336]

Sl. No.60
QBID:125060

T HYTH R -

A 310 e GRTGs HHYaT SR SR |

B. Gi¥a [ qar 3 gond: TRH: S |

C. '3fc Sa PWT: 3T SAfAIhHY Ioll T TRGH Had: |
D. "3Y §R IRT:' 3 HTHTHe]: ] |

3R IFdbY-TIdlD HefrRady fabedy gy fod -

1. B, D ddH
2. A. B $HdaH
3.B.C HdaH
4. A, C hdaH

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46337] Question Description : sanskrit_sanskrit_set 1_sanskrit_q60
2[Option ID=46338]
3[Option ID=46339]
4[Option ID=46340]

Sl. No.61
QBID:125061




A. G YAUI@Edl: IUFHIE A Hald

B. SRSy 3fd P& REGHABIGY BrIfd

C. 'R 314 Teaw ST [qur fofder vaide 9 Surid Hald
D. TS g fhaaus Sadd U3 daame:d yad fagenfd

3R IFdbY-TIdlD HefrRady fabedy gy o -

1. A, D $hdaH
2. B, C HdaH
3.C,D $ddq
4. A, C hdaq

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46341] Question Description : sanskrit_sanskrit_set 1_sanskrit_q61
2[Option ID=46342]
3[Option ID=46343]
4[Option ID=46344]

Sl. No.62
QBID:125062

JHIERTTRT (HAPLOLOGY) 3aTeRUM 3] -

A, GEER - WiER
B. dFR - 953

C. ATH DT - AP
D. U9IE - IRYTG

3R IFdbY-TIdID HIfTRaay fahedy gy ford -

1. A, BhdaH
2. B, C HhdaH
3.A, CDhdaH
4.C,Dhdaq

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46345] Question Description : sanskrit_sanskrit_set 1_sanskrit_q62
2[Option ID=46346]
3[Option ID=46347]
4[Option ID=46348]

Sl. No.63
QBID:125063




SRITRATTER Tl el IRoTer -

A. fa1gHe gvs:
B. gefiyra:

C. J3YgaRIG
D. fafaraydieR:
E. UG deR:

JUR IFIb YT ID SeNARaay [dehedy FHfIaHR o -

1. A, B$daq
2.B, C hddHq
3.C.D $daq
4.D.E $ddH

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46349] Question Description : sanskrit_sanskrit_set 1_sanskrit_q63
2[Option ID=46350]
3[Option ID=46351]
4[Option ID=46352]

Sl. No.64
QBID:125064

A. SHeTId YA 1 SR |
B. 4 SRR JH10f oA 4k |
C. 3MTdeafd I IR AdgRYS fg dd |
D. SHUT ST TRI: FHMT: |

E. 3HTI: Ufdy;: Urel: 9HY: S |

3GR IFIBYTTAID SRy [dehedy FHfIaa & d -

1. A, BhdaH
2.B, C HddHq
3.C, D &daq
4.D,E ddaq

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46353] Question Description : sanskrit_sanskrit_set 1_sanskrit_q64
2[Option ID=46354]
3[Option ID=46355]
4[Option ID=46356]

Sl. No.65
QBID:125065




AT E: ARIPRT : -

A. Hfeamy:
B. [A9sR:

C. QT=<RIE:
D. JTior:
E. IR

JUR IFdb YTl SRy [dehedy FHfIaHR o -

1. A, B$daq
2.B, C hddHq
3.C.D $daq
4.B.E hdaq

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46357] Question Description : sanskrit_sanskrit_set 1_sanskrit_q65
2[Option ID=46358]
3[Option ID=46359]
4[Option ID=46360]

Sl. No.66
QBID:125066

AT SfHRE: 3R -

A. AR g aE:

B. UUN R 3{{3eRa:

C. TRURARY: 3 EE:

D. AGIR- (¥ eRa:

E. S SR-3ReE:

JUR IFdb YTl SRy [dehedy FHfIaHR o -

1. A, B$daq
2.B, C hddHq
3.C.D $daq
4.D.E $ddH

1)1
(2) 2
(3) 3
4) 4

1[Option ID=46361] Question Description : sanskrit_sanskrit_set 1_sanskrit_q66
2[Option ID=46362]
3[Option ID=46363]
4[Option ID=46364]

Sl. No.67
QBID:125067




=Ry URATTOTaH 311 -

A. DHAGRH

B. AHIHT-RH
C. dHIHG-IH
D. ITHAG<RA

E. TREHa<RY

JUR IFdb YTl SRy [dehedy FHfIaHR o -

A, BdHddq
.B.C Hdaq
.C.D &ddH
.D. E $hddH

1) 1
(2) 2
(3) 3
(4) 4

[ R N e

=

1[Option ID=46365] Question Description : sanskrit_sanskrit_set 1_sanskrit_q67
2[Option ID=46366]
3[Option ID=46367]
4[Option ID=46368]

Sl. No.68
QBID:125068

A Tod -
T 1 T I

[dddhR-gIdUH I [Rlag:

. [SagEEg 1. o
[DTC T 111 [grda:
e foge | IV, [erdae:

3UR IFdbY-T=IdID HeIfRady fadbedy gy ford -

olo[w]>

. A-IIT B-1, C-IV, D-I1
.A-1 B-III. C-11, D-IV
ATV, B-11, C-1, D-III
. A-IL B-1V, C-1, D-1II
1) 1
2) 2
3) 3
(4) 4

3 D =

i

1[Option ID=46369] Question Description : sanskrit_sanskrit_set 1_sanskrit_q68
2[Option ID=46370]
3[Option ID=46371]
4[Option ID=46372]

Sl. No.69
QBID:125069




j 34 3id JUF: i g g
_[aR g Sae: | IV [aewarRyd 5

o
B
JElE
|
gl

3R IFdbY-T=IdlID HeIfTRady fadbedy gy ford -

CA-TL B-IV, C-I1, D-III
CA-IL B-1, C-IV, D-IT
CA-TV, B-1I1L, C-11, D-1
.A-I B-II. C-III, D-IV
1) 1

(2) 2

3) 3

(4) 4

D —

i

1[Option ID=46373] Question Description : sanskrit_sanskrit_set 1_sanskrit_q69
2[Option ID=46374]
3[Option ID=46375]
4[Option ID=46376]

Sl. No.70

QBID:125070
giferd Herdd -
T 1 T I
A HHIAT GEgH@TH i EEC
B. [HETURUSHGTTH 1L [gdien
C. [aféraea deomaued 7 dfd faary 1. [qamm
D. [HHeT@eeHTdgH IH V. [358E:

JUR I U-TRTclD HRIAY [dhedy THFFHR o -

CA-II B-I, C-IV, D-11
CA-L B-1IV, C-1, D-1I
.A-I B-II, C-II1, D-IV
. A-TV, B-III, C-I1. D-1
(1) 1

) 2

(3) 3

(4) 4

b b =

=

1[Option ID=46377] Question Description : sanskrit_sanskrit_set 1_sanskrit_q70
2[Option ID=46378]
3[Option ID=46379]
4[Option ID=46380]

Sl. No.71
QBID:125071
gIfrd Hedd -
T 1 T o
A [FHUCaEHE S TAEa HRE R s Hesuadnd 1 faseid-es: Hard
B. [FHH=RUAI IL. [3feTiopTe SpaT Hald
C. [GERTIIq 111 [OTdHHIgIE=ydT Hald
D. [Fefuistediauearg 1v. Hiderdl Hafd

3R IFdbY-T=IdlID HeIfTRady fadbedy gy ford -

. A-IV, B-1II, C-11, D-I
. A-I, B-II, C-II1, D-IV
. AL B-1V, C-I, D-III
. A-IIIL, B-1, C-1V, D-II

ad d =

i




1) 1
(2) 2
3) 3
(4) 4

2[Option ID=46382]
3[Option ID=46383]
4[Option ID=46384]

1[Option ID=46381] Question Description : sanskrit_sanskrit_set 1_sanskrit_q71

Sl. No.72
QBID:125072

Tiferd Herad -
1 T I

A [BUYE: L [sfoeq
B. [dHIE: 1L [3HITRH
C. [iRen II1. [GadT
D._ [l IV. =gl

1. A-II, B-III, C-I. D-IV
2. A-IV. B-1. C-1II, D-II
3. AT, B-1V, C-11, D-1
4. A-I, B-I1, C-1V, D-III

1) 1

(2) 2

(3) 3

(4) 4

2[Option ID=46386]
3[Option ID=46387]
4[Option ID=46388]

JUR I U-TRTclD HRIAY [dhedy THFFHR o -

1[Option ID=46385] Question Description : sanskrit_sanskrit_set 1_sanskrit_q72

Sl. No.73
QBID:125073

TYIferaH IIdTeat: Aa $od -

Tl 1 T 11
A |37 UpgeHESARRIGIE| L [URGUHN
B [Agugdg&agatd: 1L [ A
C ppeamdg 111 [ TEIEGaIeI o]
D. [ e IV. [ Hal<dlg R

1V, B-III, C-I1. D-I

111, B-1I, C-1, D-IV

-II. B-1, C-1II. D-II
4. A-TIV, B-I1I, C-I. D-II

(1) 1

) 2

(3) 3

(4) 4

1. A
2. A
3. A

2[Option ID=46390]
3[Option ID=46391]
4[Option ID=46392]

JUR Iedhy-Tadld JfefaRady fddheiy gof=ar fd -

1[Option ID=46389] Question Description : sanskrit_sanskrit_set 1_sanskrit_q73

Sl. No.74
QBID:125074




gifard Aed $od -

T 1 it H 11 FOT:
A [ggiu I._[gfdurcH uaiaiid: qur:
B. [gmr1 11 [gfcare Fare qurk:
C. Rgaiasmiisad] I [HiqureH gwde=l aul:
D. [Fmpr IV, [AfqaTeH Ta it qon:

3R IFdbY-T=IdlID HeIfTRady fadbedy gy ford -

. A-I B-II, C-III, D-IV
AL B-TV, C-1, D-II
ATV, B-1I1, C-11, D-1
. A-IIL B-1. C-1IV, D-1II
1) 1
2) 2
(3) 3
(4) 4

D —

i

1[Option ID=46393] Question Description : sanskrit_sanskrit_set 1_sanskrit_q74
2[Option ID=46394]
3[Option ID=46395]
4[Option ID=46396]

Sl. No.75
QBID:125075

A Herad -

I ITE: | I R
A JER: L [fasgs:
B. [§HeE: 1. [BTH:
C. [preaH IIL. [Sqea
D. e V. Rid:

JUR I U-TRTclD HRIAY [dhedy THFFHR o -

ATV, B-IO0L, C-1, D-11
.A-I B-II, C-1IT, D-IV
ATV, B-I1, C-1, D-III
. A-II, B-1V, C-III, D-I
(1) 1
) 2
(3) 3
(4) 4

b b =

=

1[Option ID=46397] Question Description : sanskrit_sanskrit_set 1_sanskrit_q75
2[Option ID=46398]
3[Option ID=46399]
4[Option ID=46400]

Sl. No.76
QBID:125076

A Tod -

T I T 1
SiEcgrTUlHETH%| 1 REAHUR sRugsvs
RIS G . [FeTHRT® auar
GHa=IId YT aiars & | L [FRTHRTS Sicud|
. FreareEEEr | v, fEmer saers

o|o|w|x=

3R IFdbY-T=IdlID HeIfTRady fadbedy gy ford -

. A-I, B-II, C-III, D-IV
. A-1V, B-I, C-11, D-III
. A-III, B-1V, C-1, D-II
. A-IL B-III, C-IV, D-1

ad d =

i




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46401] Question Description : sanskrit_sanskrit_set 1_sanskrit_q76
2[Option ID=46402]

3[Option ID=46403]
4[Option ID=46404]

Sl. No.77
QBID:125077

A 1 (@FGT) ﬁ'uﬁ]:l(&ﬂ?fm'f)
. |7 ardl <usagfd faem: | 1 fa=ens:
. [geeiAisHIEH pdld || 1L [s{ierEn

. [ETERAls A1 A $did || 1L MR
. [gua-itidLent o= | IV. {Han:

JUR I U-TRTclD HRIAY [dhedy THFFHR o -

1. A-II, B-IV. C-III, D-1
2. A-IV, B-III. C-1, D-II
3. A-I, B-III, C-IV, D-II
4, A-III. B-II, C-1IV, D-1

1) 1

(2) 2

(3) 3

(4) 4

gl |w| e

1[Option ID=46405] Question Description : sanskrit_sanskrit_set 1_sanskrit_q77
2[Option ID=46406]
3[Option ID=46407]
4[Option ID=46408]

Sl. No.78
QBID:125078

SHENTARIATT YT HUS TYTIshHUT TSI -

A UXYYGdH
B.

C. fagirEdareyadq
D.

£y

IUR FFAB YR SeffaRady ey FHf<aaw < -

1.4, B€C.D
2.C.B,D,A
3.D. B, C.A
4.C.A.B.D
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=46409] Question Description : sanskrit_sanskrit_set 1_sanskrit_q78

2[Option ID=46410]
3[Option ID=46411]
4[Option ID=46412]

Sl. No.79
QBID:125079




C. U

D. P[UdRIdUydigiUiH

JYR IFIBYTTA D SRy [dehedy FHfIqHR o -

1.B,D A, C
2.A,C,B,D
3.D,AB,C
4.C,D.B.A

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46413] Question Description : sanskrit_sanskrit_set 1_sanskrit_q79
2[Option ID=46414]
3[Option ID=46415]
4[Option ID=46416]

Sl. No.80
QBID:125080

ARAHATTHR JB: HH TTora -

A. Upic:

B. 3gPR:

C. YIS gd: TUr:
D. {8

E. O

I HHU Ioigd -

1.A/D.B.CE
2B C.D,AE
. D EDB &
4 E.B. DA C
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=46417] Question Description : sanskrit_sanskrit_set 1_sanskrit_q80

2[Option ID=46418]
3[Option ID=46419]
4[Option ID=46420]

Sl. No.81
QBID:125081




A, g
B. IRIHTH:
c. ot

D. YITHMEATH:

HIVITRITY s —aAT TuThH gieigd -

1[Option ID=46421]
2[Option ID=46422]
3[Option ID=46423]
4[Option ID=46424]

T HHUT o -
AR Gl
IBCDA
3.C,D,B.A
4.C,D,A,B

1) 1

() 2

(3) 3

(4) 4

Question Description : sanskrit_sanskrit_set 1_sanskrit_q81

Sl. No.82
QBID:125082

AT IDTRGTH FHT TUTITS TR -
: Qe THRd

b Yec HRId

1 IR vl s

S

AR, €D

L EB A
ol LB
B LA G

=

1
2
3

=

1) 1
) 2
(3) 3
(4) 4
1[Option ID=46425]
2[Option ID=46426]

3[Option ID=46427]
4[Option ID=46428]

ITN I AR AT elh Eﬂlrﬁr@dﬂ Idched™ Hd—giﬂdd:l_,d;l dd -

Question Description : sanskrit_sanskrit_set 1_sanskrit_q82

Sl. No.83
QBID:125083




STTRIARY AU - ToxRH, TRHTYREH, TR, e, TdehHul [d-asdi S -

A. BYR] FRRR HH(0T
B. §A-H

C. 339

D. guY: GEfafer:

3UR IFdeaaeaeld Ffefaay faeedy nfaagm g -

1.A,C,;D,B
2.B;D,C. A
3.D,C,AB
4.C,A,B.D
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=46429] Question Description : sanskrit_sanskrit_set 1_sanskrit_q83

2[Option ID=46430]
3[Option ID=46431]
4[Option ID=46432]

Sl. No.84
QBID:125084

SHUNTARIAY BT, Difc Hi=d TYBIOL, T BIeishHUT (TS -

A FIBICHH

B. WdUdHdqdH

~

C. quiieRA

L N

D. ATdfdhIAF
E. SidleRieas

3UR FFdeyaTdels Ay Heedy FaRaRw e -

1.B,D.AC,E
2.B.D, C.AE
3 A C BB E
4.C.D.E.AB
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=46433] Question Description : sanskrit_sanskrit_set 1_sanskrit_q84

2[Option ID=46434]
3[Option ID=46435]
4[Option ID=46436]

Sl. No.85
QBID:125085




AR SHagRIGH! SHiUPHdr Td HHUl o -

AR

B. ITI:
C. YURT:
D. Pl

E. 9&

Tl HH Ioigd -

AR E

W =
cH=Re
“npo
oo

=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46437] Question Description : sanskrit_sanskrit_set 1_sanskrit_q85
2[Option ID=46438]

3[Option ID=46439]
4[Option ID=46440]

Sl. No.86
QBID:125086

SeifeTRad P ufde@r gHf<raH < -

DYAH -1 - "G i A Y fhaIRd 9 0 o A oA faufar 3fd Afredar: dyafd |
DYTH - 11 : 'Y d A TG H [aarer TqRAE Afeda: TS
ST Wiasi fafgadd Migd Tgrm 11"

Sid QHRIS: 99 galld |

IUR I UTRTclD HRIAY [dhedy THFTHR o -

. 3HY FY I & |

. IHY DY 3 X |

UYH BYTH T fobg el sraeH o
U HYTH 3 o fgdid g Sl
(1) 1

() 2

(3) 3

(4) 4

L R R

=

1[Option ID=46441] Question Description : sanskrit_sanskrit_set 1_sanskrit_q86
2[Option ID=46442]
3[Option ID=46443]
4[Option ID=46444]

Sl. No.87
QBID:125087




e P fdear gHf=ra = -
DY - | : AMADRG DYl - T YAATEI Tl IR Tl |

HYFH - 11 : IANDT: ITA YA} e |

geiferd faehed fad -

1. 3HY DY I & |

2. YT BU 3T W |

3. UH HYTH T g et s sifd
4. G HYUTH S [ TaciTd ToaH i
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46445] Question Description : sanskrit_sanskrit_set 1_sanskrit_q87
2[Option ID=46446]
3[Option ID=46447]
4[Option ID=46448]

Sl. No.88
QBID:125088

effafad Hua ufear Tafragm fd -
HYTH - | : "TBIAHIRT AYA AT 3Id Gl TGS H SR |

DY - 1 - GARTERAET 3id G wiafdaamdi erorad Hfd |

geiferd faehed fad -
1. 3573 Tt B = |
2. 38 T T T

P Y

3. 9uH FuAA Hod Toheq fadaH dEcTH AT

4. vF FUeH 3 fahed gladid oaH HiRd
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=46449] Question Description : sanskrit_sanskrit_set 1_sanskrit_q88
2[Option ID=46450]

3[Option ID=46451]
4[Option ID=46452]

Sl. No.89
QBID:125089




ST Y- ufdar gy f&d -
HYAY - 1 : T oftt aRversy ugendesi=a |
TgI4a=a B oA Yeal -1 Taargicr: 1

Y - 11 : e 7 TR AT STl AAT: Hor 1 |
T WSO 7 o Yo Tagic: ||

gYiferd faeped fod -

1. 353 ot @ =a: |
2. 39 Fud FES T |

o

3. 9uH FuAA T Tohed SadEH, 3T AT

4. vHE FueA 3 g gfad doaA AR

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=46453] Question Description : sanskrit_sanskrit_set 1_sanskrit_q89
2[Option ID=46454]

3[Option ID=46455]
4[Option ID=46456]

Sl. No.90
QBID:125090

FNTITET Feret gfdcar FfaaET Fad -

FUAH - | : cdh: FATHTGRLT Tdard: |

FueHA - || : eaeT g TUREH FERYHAARE, Bt e |
T fawed FEed -
1. 33 ot | & |

2, 39 Fue FES T |

i

3. 9uH FUAA Hcd Toheq fadaH WA AT

4. vuH FuaH 30 faheq glada gaH AT
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=46457] Question Description : sanskrit_sanskrit_set 1_sanskrit_q90
2[Option ID=46458]

3[Option ID=46459]
4[Option ID=46460]

Sl. No.91
QBID:125091




SreferRare et afdeat wemr SeRifor forge -

dHPal T TRIE! A AledG: [UqRE agHd: WICHANTHIN - dId | Hadletssd

SIS YA A Hald dedd ig@ﬁﬁ@fﬂ@“{ A ey FEY T HroafdeRy Uefder]

TAA: YA | GUTRT SUldUTeiRep R SRR SFRRIRNIEGa gaefaaiaHId gfs: |
TR & HERIaR RS EHIO S 7 90d 1 = Ya: e e a1 faved afdad |

SYYITAY HHY Uidg-aH: T: WY URYFd | 7 a1 UHald Foii GRIEHARTSAN |

S CTSHT-TRITEIY USTT: Flch = ania a1 FYTrgid=g: qai:Rufd: Tfbg: | Fraiey diel abiical-Aay
A STA = YR |

IYRIE: 3fd HEg AH 2

1. 303
2. J19a:
3. Hf-0r:

4. ARYAY
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=46461] Question Description : sanskrit_sanskrit_set 1_sanskrit_q91
2[Option ID=46462]
3[Option ID=46463]
4[Option ID=46464]

Sl. No.92
QBID:125092

afefiferRad Treni<i ufd e weim=me I<Riion o -

dHP el i URIa! A Afades: TUdRe agHd: WIeHAITHIN - dId | Gddieted
HUSATHYIYAaAY Al A& i@"@%ﬁ@fﬂ‘gﬁ Harg JAdiGy Ry 9 Hroafdealy Urdfawdr]
aaaiﬂa PIGIEIEILSE! Iﬁzﬂmﬁi SHUTIITETERRTRH ST oo grsmiaifd gis: |
e e Yy =5d)sl0 ARSIV AT A 98 -1 o Weh: 1ed "ie a1 fqasy afddH |
STy HHY Hidg=THM: T: WY GRYFA | -1 AGaAI=T UHdld USIH GaERIAT |

ST TR USTl: Ffcha-arie=at auTErgld=g: Jai:Ryld: dibyg: | Hale die! daisriddHay
TATHAH STH = YA |

1
2
3) 3
(4) 4

1[Option ID=46465] Question Description : sanskrit_sanskrit_set 1_sanskrit_q92
2[Option ID=46466]
3[Option ID=46467]
4[Option ID=46468]

Sl. No.93
QBID:125093




SreferRare et afdeat wemr SeRifor forge -

dHPal T TRIE! A AledG: [UqRE agHd: WICHANTHIN - dId | Hadletssd

SIS YA A Hald dedd ig@ﬁﬁ@fﬂ@“{ A ey FEY T HroafdeRy Uefder]
TAA: YA | GUTRT SUldUTeiRep R SRR SFRRIRNIEGa gaefaaiaHId gfs: |
TR & HERIaR RS EHIO S 7 90d 1 = Ya: e e a1 faved afdad |
SYYITAY HHY Uidg-aH: T: WY URYFd | 7 a1 UHald Foii GRIEHARTSAN |

S CTSHT-TRITEIY USTT: Flch = ania a1 FYTrgid=g: qai:Rufd: Tfbg: | Fraiey diel abiical-Aay
A STA = YR |

AREHARTER 347 & U&H lsd: 2

1

2
3) 3
(4) 4

1[Option ID=46469] Question Description : sanskrit_sanskrit_set 1_sanskrit_q93
2[Option ID=46470]
3[Option ID=46471]
4[Option ID=46472]

Sl. No.94
QBID:125094
[y

afefiferRad Treni<i ufdcan wsm=me J<aion o -

THP Gl e TURIE! T Al TUqR agHd: WIeHANTHTN - d1d | HaaTeTesd

SIS YT AarEHald dedd ig@ﬂﬁ@hﬁmwﬂmﬁgﬁﬁgawﬁmm
qdev: dfafafrerd Iﬁumﬁi SHTTEITETERRTRH SRR SFfEiferdd grsmiaifad gis: |
Sl g Hyef=d)slt RREAREGHIUE AT A 998 - o Uekd: wied TieH a1 fqasy afddH |
YTy HHY Yidg=HM: To: WY GRYIA | = Aragaedi= WHdid YS! GaaRIg |
HITHT-HY Uoll: Afcha-arie-a auirgid=: gal:fRufa: dfeyg: | Friaiey die! daiedsgay
LT ST T YA |

feaie: did: & Y=rd 2

1. D IHRH

2. Xl HH

3. {0

4. [ITHTH A= =
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=46473] Question Description : sanskrit_sanskrit_set 1_sanskrit_q94
2[Option ID=46474]
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